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The basic semantic function of ‘toritate’(designting)-particles in Japanese, which correspond to
so-called ‘focus particles’ in English, is to designate an object in the context as the focused element,
and to quantify the set of its alternatives (contrastive objects).

Among those particles, some induce a kind of scalar readings (interpretations) depending on
their context. For these scalar readings, an ordered structure among the set of alternatives is set
up. But the ways those readings are induced differ depending on the particle used and the context
it 18 in. These differences lead to further subtle but significant differences among those readings.

In this paper, we examine four of those scalar particles, SAE, MO, MADE, and DAKE, and try

to clarify the differences among the scalar readings.
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goooboobooboboooboobog

goooooboooboboooboboooboboooboooobooooboob0obooboboobobg
00000000000 (4la)0000000000O0O0OO0O0OOODODODO

(49) D0000DOODOO0OOOOD

gooobooobooboobobooboooooobbobbooboboobooobooboobooboooog
goooobooobooboooboogooooobooboobooobooboobboobooboobbooboog
0000000000000 00D00000 ABCOODD (50)00D0000OOO0 (B< A< C)ODODODOOO
(51)00000000000DDODOOOO

B A C
(50) ¥ ¥ Y
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(51) a. (ADOOO0)DVe ((z>A)D(x000))
b. (ADDOO)DVe ((e>A)D>—-(x00D0))

(41a)000000000DOD0OO0ODO0O0OO0DOO0OOOOODOOOODOOODOOOOODOOOODOOODOOO
goobooboooooobooooooodoogbooboooooLoob bbb obbbobooogo
goooooooooooooboboooobDobooooobbobbooLooobLDbbobbobbooog
gooooooooooboobodboboobOoobooob0obboboboobLOoobObOoOobooboooog
000000000000000000000000000000000000000 [10)]00000000000
obooobooboooboooo
gooooobobooobobboooboooboboobooobbooobob0oob bbb boOoOoo
goboobooboooboboooboboobuoobooboobooboobOobDooboboo

3.2 0000

0000000000000 0000000D00O00D0O0O0 (17)(41d) DODODOODOODOOOOOOODOO
gooooboooooobobobodboooboooDoooboobbooobUobbobobooobooboboog
goooooboobooooooooooooobooobobbbobboooooooobL bbb bbooogo
gobooobooboooboboooboboooboobobooboboobOobooo

(52) |DAK E| = AeAP(P(x) AVy € C(P(y) Dy = ))

000000000000 (41d)0000000000000000D00000000DO0O0000O0O00OO
gooooboooboobboboogooooobobobooboobLDooobLDoooLoobobobooboooboog
googo

(53) a. (wide scope)
|IDAKE|(0O0O0DD)AP(if Pthen 000)) =
(if 00000 then D00) AYR€E C((if Rthen D0D) D R=(00000))

b. (narrow scope)
(if IDAKE|(0O0)Ax(x0D00)) then00OD) =
({f (00000 AVy(yODOO Dy=00))thenOODO)

(532) 00000000000 DOODO0OOCODOOOOOOOOODODOOOODDOOOOOOODODOOOOOO
goooobooooooboobboobbuooboooDoobbobbobooobLDOoobbobbooboobobag
gooooboobooboobbobooobooobooboobooboboobDb0ooLoobobobooboooboog
0000000000000 00000D0O (B3h)00000DD0O00DOU0OOONDODOOODDOOODDDOO
obooboboooboboooboooobuoobobooboong

[13000000000000000000000000000000000000000000000O00O0
goooooooboobboboboobooooooboobboobboboooobLooboobbobbooobg
gooooboooboobboboooobooooooboobooboobDoooLooboobboboooobag
gooooooooobbooboobooooobbobboobooboboobooboobooboooboog
oooobobooobobooobobooobooooo

(54) 2. 000000000
b. 000000000

c. DOOOODOO

0000 (4)000000000000000D0OD0000000D0DO0D000000DO0DO0O0O000DOODO0OO
gooooooooobbobobooboooboooboobbooboboboobLooboobbobbooboog
0000000000000 0000000D00000 (13000 (42)000000000O0O00OO0O0O0OO (54b)
0000000000 (h4c) 000000000 D0ODOO0ODOOOODODOOODOOOODOOOODODOOODODOO
oo
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narrow scope) ‘

~—~

| | DOOO0O (widescope) | 000D |00DODDOO

(55) (54a) - - +
(54b) - + +
(54c¢) —+ + -

goooobboooobooobbooobbooobbooobooobD0ooobLDbboobbooboon
goooooooboooooobobobbbobbobboooooobbobbbbbooooobobooog
goooooobooboobooboobbobobooboobooooboobboobboobbooboooog
goooobooboobobooboboooboooobobooobobDoobobooobobLboo

ooooobooboooboobooobooboooboobobooboboobOobooo

(56) 00000000

0000 (6)000000000000000D00D000DD00DO00D0O0D00OD0OOOOODODOODO
0000000000000 00000DO0000D0000000D (4b)000000O0OO0OODOOODODDOOO
oboooboobooboooobobooo

0000000000000 0D0D0000000000D0000DO0O00O00D (4b)0 (B6)D00DDODO
000 (54b)000000000O0O0ODOOO0O0OODODOOOOOOOOOOODOOOODOOOODOOOOODODOO
goboobooboobobooboboobobooobobooobobooo

(57) a. 00000
b. 00000000
c. 00000000

gooooooboobboobodbooooooboobboobboboboobLoobDbooobobboboog
goooooobooboooboboobooooooboobbobbob0booobLooboobooboooog
0000000000000000000000700000000000000000000000000000
gobootbodobooboboobobooboboobobooboonog
goooooboooboboooboboooboboooboooobooooboobo0obooboboobobg

4 00O0OO

gooooobobooooboooboboobbboooobooooobobbobbooobboobDbooobbooo
gooooooooooooobodobooobLoooDooob0oboobDoooLbooboobboboooboog
gooooboooboooboboooooobboboboobboobooooboobboobbobobooboooog
gooooooooobboboooobooboobooboooboobD0ooLoLoobooboobOoooboog
oo

obooobobooobooooboobooog

e JO0OI0ODDOODODOODDUUODDODODDOUDDOUUODDDODDDODUOOULODUOODDDOOODLO
00 (scale) 000D0DDOO0O0O0O0ODODO (focus) D0DDDDOODODOOODODOODOODOOOODODO

e JO0OI0ODDOUOODDOODDUODDDODLDDOODDOOODDLUODDOUOUODDDUUOUDLDbDOODO
goboooboboobooboooobooobboobooob0boooobooobOooLobooLDboD
goooobodoboooboobooobobooboooobooboobooboboobOobDoobobooo

e« 00000000 DODDOODODDOODODODDODD (focus)DODODDOOODODODODOOOOOD
goooobodoboobobooboboobobooboboobonag

7[4]DDD ‘plus’ 0 0000000000000 O0OOOOOOOOOOOOOOOO
(58) a. George drank a little wine, a little brandy, a little rum, a little calvados, plus a little armagnac.
b. George drank a little wine, a little brandy, a little rum, a little calvados, even a little armagnac.

(58a)00 (58b) 000000 OO0DOODODOOODODOOODOODODODNOONOOONDODOODOONOONDOONDODODOODO0OO
goooooooooooooooooooobooooo
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e U000 DOODLODOUODUODLOUODLODLOUODLODOUUODODOUODUODUUODODOUODODOOD
obooobodoboobooboobooboobooboobooo

000000000000 00000000000000000000000O00D00OODOD (focus)O O
obooobobooobobooobooooo

gooooooobooobobobbooboooobooobbboooboooboDboOoboobbbooo
0000000000000 0000000D0000000 (scale)D0000DDOOODOOOOOOOO

¢« 000000000 DDOODDODOOODDODODOOOODDD (focus)0DDODDODOOOODOOODOOO
goooboobooboooobobooobobobooboooobooooo

gooooobobooobooobooooboobDooobooobooLDbDoooobboobbooo
gooboboooooooobboooboobooobbooobooob0oobbooobbooobooLDbo
gooobooboobobooobobooobobooobobooobobDoobobooobobboo

goooooboobbooooobboooboooboob0ooobooooDLooobooobDboOoOoOoo
gooooooboobboboboobooooooboooboboobD0oobbooboobooboooog
gooooooooooboboogooboooboobooboob0oooboobbooboobooboooboog
gooooo

goooooboooooooboboobooooboooobbooobob0boooobboobDboooo
goooooooboooboobooboooooooboooboobobooooLooboobooboooog
gooobooboobobooobobooobobooobobooobobooboboooboobobooooo

goooobboooobooooboooobboooboooobLoboobbboobooobbooUobLDbbooo
gooobodoboooboboooboooobooboboobobooo

| | 0o | 0o 00000
00 (9) 00 0Doo0O0Oooo0o0
(10) oooo 0000000000000000000000
00 (11),(12) | 00000000 0Doo0O0Oooo0o0
(59) (13),(14) 0o 00000 +000000000
O (6) oooo oooooooo
(15),(16),(60) 00 000000000000000000000
00 (7) oooo oooooooo
(17),(61) oooo 000000000000000000000

goooooboooobooooooboboooboooob0oboUUb bbb bbb oOoO
gooobodoboooboboooboooobooboboobobooo

goooobobooobboooboogobobooobooooobbobbboobobOoobDbbooobOooo
oooooobooooboooo

(60) D0 O00O0D0DOODOOOOOD
(61) D0OOO0DOODODOOOOODOOO

(GO)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD(61)
0000000000000000000000 nomore than 000000000000 DO0O0OO0OOOOO
dobooboooboooooboooobooooobooo b0 ooobO o0 o000 o0 bOoooDooOooOoDoa
Odo0o0oooooooooooooooooooooooooooooooooo
gooad
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